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I nstructions to the candidates:
1) Answer QYor@Q2, Q30r Q4.
2) Neat sketChes mustie drawn wherever necessary.
3) Figurgstefight ndicate full marks.

4) Assumesguitable data if necessary.

5) Usewf/electionic pocket calculator is allowed.
6) Use of cell phoneis prohibited in examination hall. EE

b) *Thefollowing notesrefer to an operat olving receiprocal levelling[7]

Q1) @ Differentiate between Plane Survey and %25 c Survey? [3]
|

| nstrument Staff readi Remark
Station A \ |
A : % Distance AB = 350 m.
B 900 RL of A =350.50m
Find:

) TrueR.LY '
1)) combined ‘correction for curvature and refraction.

[ he collimation error
oeslineof collimation isinclined upward gntownward.
plainthefollowing Terms: \ [9]

% )  WholeCircleBearing

i) ForeBearing

i)  Quadrantal/Reduced Bearing

Iv) Local Attraction

v) Maeidian

OR

PT.O.



Q2) @ Enlist different accessoriesrequir Plane Table Surveying? Explain
any one method of planetable ori gjtati on? [5]

N
b) Thefollowing aretheobserv ing of thelinesof atraverse ABCDEA
with acompassin aplace e local attraction was suspected. [6]
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Pi%d correct bearing of lines. N
c) vEnl ist Different axes of Dumpy )“\ beral ationship between axes of

Dumpy Level? l&/ [4]
L

Q3) @ Followingrecordsar .fw pned i atheodolitetraverse survey wherelength
and bearing O \ (g\\/g)not recorded. [61{}3
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b) Explainwith sketch the procedure for prol @yati on of straight line using
theodolite? [5]
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c) Explainthefollowingtermsused in@odolite [4]
vV

)  Transiting of telescope (§5

i) Swinging of tel @copeoé'
~'\,

i) Change of ,\'7

. N2

iv) Telesc or{%'é?'

NP
GO o
Qo

Q4) a Fd g re¢ordsare obtained in atheodolitetraverse surv length
of(an 0-; of line SP were missing. [6]
C

Ch(j}{é Length (m) Bearing

O PQ 230.5
[in
|4
@’ QR 250.2
RS 210.8
SP :
Vol
Calculate length of
e o3
b) Explain the rement of horizontal angle by repetiti n
method? ,\Q,) ‘§]
Voo . &
c) Explamany one m@hod of adjustment to corrections in cor;%::utlve
a S)Gsed traverse? f\, ~ 4
v S
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